i TiEFR2025F T HARE—SBIUFRNBZRELT

EERS 271 RS WALE RSB F353 B HIRENSH] Ehitkl FaNE | &
100085210007347 PRI 080200 TR TAE £HH E=ERE EE AR ZEIH ! 590.90
100085210006712 £ 080200 T IE 2B EEHRE IFEREIL TR 569.60
100085210005751 B 080200 TR TAE £HH E=ERE EE AR ZEIIH ! 562.40
100085210008682 EER 080200 WU T2 2B eEHE®E EE ML eI 562.20
100085210007681 P 080200 T2 e=k:l SERE EER AL ZEIHY 555.30
100085210004788 e 080200 TR TIAE £BH EEHR*E IFERRIL FToETL 552.80
100085210009457 £ 080200 TR IAZ £HBH E=ERE JEE AR TR 550.30
100085210003519 EHE 080200 TR TIAE £BH EEHR*E IFERRIL FTETL 547.60
100085210007351 iR 080200 T IFE 2B EEIL IEERRAL TR 544.80
100085210008068 g 080200 TR IR £HH £ERE IEERRIL ZELH 544.50
100085210010482 w3z 080200 WU T2 E=k =EFE EER AL ZELL 542.90
100085210004601 AR 080200 TR IR £HH £ERE IEERRIL ZELH 541.90
100085210008954 B 080200 T IFE 2B EEIL IEEREAL TR 541.80
100085210009602 B 080200 T IE £HH ESEIL IEERRAL FET 541.60
100085210000293 B 080200 T IFE 2B EEIL IEEREAL TR 540.60
100085210008763 SR 080200 T IE £HH ESEIL IEERRAL FoETL 538.90
100085210003307 ) 080200 TR TAZ £HBH EEIL IEERRIL FTET & 538.50
100085210003274 2 080200 TR TAE £HH LEFRE IFERERAL FoETL Y 537.20
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100085210004603 PR’ 080200 WU T2 ES=L ESEIlSie EE ML eI 531.90
100085210003220 5> 080200 T2 e=kil SERE EE ML ZELH Y 528.40
100085210005065 ta* 080200 WU T2 2B cEHE®E EE ML eI 526.90
100085210008266 g 080200 HU T2 E=kil ER*E EE ML ZEIH Y 521.30
100085210000285 B&** )1 080200 WU T2 2B eEHE®E EE ML eI 520.60
100085210007348 [ 080200 WU T2 e=k:l SERE EER AL ZEIHY 520.10
100085210003308 R 080200 TR TIAE £BH EEHR*E IFERRIL FToETL 520.00
100085210003069 =8 080200 WU T2 e=k:l SERE EER AL ZEIH 519.00
100085210008161 SR 080200 TR TIAE £BH EEHR*E IFERRIL FToETLH 518.50
100085210009420 T 080200 T2 e=k:l SERE EER AL ZEIHY 517.50
100085210000300 FF 080200 WU T2 E=kzl 2EFHE EE R ZEIIK! 516.50
100085210000298 =5 080200 T IFE £HBH EEIL IEERRAL TR 512.00
100085210000296 G 080200 TR IR £HH £ERE IEERRIL FTETL Y 511.70
100085210009239 -y = 085501 TR TAE 2B EEIL IEERRAL ZEIIHK! 626.40
100085210000339 I 085501 W IE 2R eEFHEE IEE AL ZEIIK! 615.80
100085210000353 THE 085501 WU T2 E=k ESEILSe EEMEHAL ZEITX 613.90
100085210007579 B 085501 W IE 2R eEFHEE IEE AL ZEIIK! 609.60
100085210000355 T 085501 WU T2 E=k ESEILSe EER AL ZELH 605.60
100085210007685 e 085501 TR TR £HH ESEIL IEERRAL FoETL 596.10
100085210010107 =t 085501 WU T2 ES=L ESEILSie EEMEHAL ZEITX 594.60
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100085210009241 = 085501 WU T2 ES=L ESEIlSie EE ML eI 594.40
100085210004121 iz 085501 TR TAE £HH E=ERE EE AR ZEIH ! 594.20
100085210000362 BB*#E 085501 WU T2 2B cEHE®E EE ML eI 594.00
100085210004115 X% 085501 TR TAZ £HH E=ERE EE AR ZEIIH ! 592.50
100085210004108 KR 085501 WU T2 2B eEHE®E EE ML eI 592.20
100085210005593 R 085501 TR IAZ £HBH ER*E JEE AR ZELL 591.90
100085210004111 (s 085501 TR TIAE £BH EEHR*E IFERRIL FToETL 590.30
100085210004067 =*in 085501 TR TAE £HBH E=ERE JEE AR TR 589.90
100085210006364 Day e 085501 TR TIAE £BH EEHR*E IFERRIL FToETLH 586.20
100085210000336 SK*E 085501 T2 e=k:l SERE EER AL ZEIHY 586.10
100085210004312 = 085501 TR IR £HH £ERE IEERRAL FTETL Y 585.50
100085210004123 FHA 085501 WU T2 E=k ESEILSe EER AL ZEIH 584.90
100085210007771 T e 085501 TR IR £HH £ERE IEERRIL FTETL Y 582.40
100085210007961 = 085501 TR TAE 2B EEIL IEERRAL TR 581.80
100085210000361 1e* 085501 W IE 2R eEFHEE IEE AL ZEIIK! 580.20
100085210008824 'R 085501 TR TAZ 2B EEIL IEEREAL TR 579.60
100085210006277 X*E& 085501 W IE 2R eEFHEE IEE AL ZEIIK! 578.40
100085210000301 Fa 085501 WU T2 E=k ESEILSe EEMEHAL ZEITX 577.70
100085210009969 X & 085501 TR TR £HH ESEIL IEERRAL FoETL 576.20
100085210006657 237 085501 WU T2 ES=L ESEILSie EEMEHAL ZEITX 574.90
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100085210003016 +* 085501 WU T2 ES=L ESEIlSie EE ML eI 574.70
100085210010072 = 085501 T2 e=kil SERE EE ML ZELH Y 574.40
100085210003222 FHRE 085501 WU T2 2B cEHE®E EE ML eI 574.40
100085210004792 x* 085501 HU T2 E=kil SERE EE ML ZEIH Y 574.10
100085210003561 BYE 085501 WU T2 2B eEHE®E EE ML eI 573.00
100085210000344 ST+ 085501 WU T2 e=k:l ER*E EER AL ZELL 572.30
100085210000321 P 085501 TR TIAE £BH EEHR*E IFERRIL FToETL 572.00
100085210003654 XB*R 085501 TR TAE £HBH 2ER*E JEE AR ZELL 569.70
100085210009469 SR 085501 WU T2 e=k eEHE®E EEMEHAL FETTRY 567.10
100085210009188 B*% 085501 T2 e=k:l 2ER*E EER AL ZELL 566.00
100085210004791 FHiE 085501 TR IR £HH £ERE IEERRAL FTETL Y 566.00
100085210004120 FHiE 085501 WU T2 E=k ESEILSe EER AL ZEIH 565.90
100085210004118 B 085501 TR IR £HH £ERE IEERRIL FTETL Y 565.40
100085210005033 EXHHA 085501 WU T2 E=k =EFE EER AL ZELL 563.70
100085210005554 B 085501 W IE 2R eEFHEE IEE AL ZEIIK! 561.00
100085210003418 =5 085501 TR TAZ 2B EEIL IEEREAL TR 560.30
100085210006250 g 085501 W IE 2R eEFHEE IEE AL ZEIIK! 560.00
100085210004068 = 085501 TR TAZ 2B EEIL IEEREAL TR 559.40
100085210007359 KR 085501 TR TR £HH ESEIL IEERRAL FoETL 559.40
100085210003520 > 085501 WU T2 ES=L ESEILSie EEMEHAL ZEITX 559.40
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100085210004478 B 085501 WU T2 ES=L ESEIlSie EE ML eI 559.00
100085210000323 XI*FR 085501 T2 e=kil ER*E EE ML ZELH Y 558.00
100085210006363 FHE 085501 WU T2 2B cEHE®E EE ML eI 556.30
100085210000363 SR 085501 HU T2 E=kil ER*E EE ML ZEIH Y 556.10
100085210004966 ek 085501 WU T2 2B eEHE®E EE ML eI 555.80
100085210004113 XU*F 085501 TR IAZ £HBH ER*E JEE AR ZELL 555.00
100085210006470 =R 085501 TR TIAE £BH EEHR*E IFERRIL FToETL 555.00
100085210005293 e 085501 HIFE £HBH E=ERE JEE AR TR 554.10
100085210000310 = 085501 TR TIAE £BH EEHR*E IFERRIL FToETLH 554.10
100085210000302 25 085501 TR IAZ £HBH E=ERE JEE AR TR 553.90
100085210007577 ) 085501 WU T2 E=kzl 2EFHE EE R ZEIIK! 552.80
100085210006415 fE*38 085501 TR TAE £HBH EEIL IEERRAL TR 551.80
100085210005874 i 085501 TR IR £HH £ERE IEERRIL FTETL Y 548.80
100085210003275 5 085501 TR TAE 2B EEIL IEERRAL TR 548.60
100085210003073 Sk 085501 W IE 2R eEFHEE IEE AL ZEIIK! 548.00
100085210009389 i 085501 WU T2 E=k ESEILSe EEMEHAL ZEITX 548.00
100085210009077 B 085501 W IE 2R eEFHEE IEE AL ZEIIK! 547.40
100085210010035 E 085501 TR TAZ 2B =EFE IFEEHY ZELL 547.20
100085210008766 53 4 085501 T IE £HH ESEIL IEERRAL FoETL 547.00
100085210003309 a* 085501 WU T2 ES=L ESEILSie EEMEHAL ZEITX 546.40
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100085210005199 =* 085501 WU T2 ES=L ESEIlSie EE ML eI 546.10
100085210007357 B 085501 TR TAE £HH LEFRE EE AR ZELL 545.70
100085210007683 XI*E 085501 WU T2 2B cEHE®E EE ML eI 545.40
100085210004874 % 085501 TR TAZ £HH E=ERE EE AR ZEIIH ! 545.30
100085210003869 F=x 085501 WU T2 2B eEHE®E EE ML eI 544.90
100085210008419 (=) 085501 TR IAZ £HBH E=ERE JEE AR TR 544.40
100085210002991 SR 085501 TR TIAE £BH EEHR*E IFERRIL FToETL 544.10
100085210003158 =K 085501 WU T2 e=k:l SERE EER AL ZEIH 543.90
100085210006894 i 085502 FIRTE e=k eEHE®E EEMEHAL FETTRY 601.50
100085210007164 =% 085502 TRIE £HBH 2ER*E JEE AR ZELL 585.10
100085210000387 i) 085502 FRIE £HH £ERE IEERRAL FTETL Y 576.00
100085210000390 B * B 085502 FIRITE E=k ESEILSe EE ML eI 573.60
100085210009486 5K*1% 085502 FRIE £HH £ERE IEERRIL FTETL Y 573.60
100085210000376 = 085502 FIRITE E=k ESEILSe EER AL ZELHE 573.40
100085210006182 XU 085502 FRIE £HH ESEIL IEERRAL FETL 571.30
100085210000378 EX*PH 085502 FIRTE E=k ESEILSe EER AL ZELH 570.40
100085210006279 L T 085502 FRIE £HH ESEIL IEERRAL FETL 569.60
100085210008486 =*MH 085502 FIRTE E=k =EFE EER AL ZELL 566.70
100085210005741 i 085502 ERIRE 2R eEFHEE IEE AL TR 564.20
100085210003422 XB*ipk 085502 FIRTE ES=L ESEILSie EEMEHAL ZEITX 562.20
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100085210004827 EES 085502 FIRTE ES=L ESEIlSie EE ML eI 560.20
100085210006600 i 085502 ERIRE e=kil SERE EE ML ZELH Y 557.40
100085210006098 SK*E 085502 FIRTE 2B cEHE®E EE ML eI 557.10
100085210006945 iz )2 085502 ERIRE E=kil SERE EE ML ZEIH Y 547.30
100085210006097 R 085502 FIRTE 2B eEHE®E EE ML eI 544.50
100085210004606 F* 085502 TRIE £HBH E=ERE JEE AR ZEII ! 541.60
100085210005429 L (g 085502 FIRTE E=k eEFHEE EEMEHAL FETTR 535.50
100085210008661 AR 085502 L= £HBH E=ERE JEE AR TR 535.00
100085210000381 E 085502 FRIRE £BH EEHR*E IFERRIL FToETLH 535.00
100085210000375 B8] 085502 IR TE e=k:l SERE EER AL ZEIHY 534.80
100085210006893 i 085502 FRIE £HH £ERE IEERRAL FTETL Y 534.00
100085210005527 B 085502 FIRITE E=k ESEILSe EER AL ZEIH 527.40
100085210006181 L 085502 FRIE £HH £ERE IEERRIL FTETL Y 512.00
100085210009073 F* 087171 YIm L2 E=k =EFE EER AL ZELL 563.20
100085210003053 = 087171 Win L 2R eEFHEE IEE AL TR 545.60
100085210006516 wm* 087121 YIim e 2B EEIL IEEREAL TR 538.00
100085210001057 a* 087171 Wim L 2R eEFHEE IEE AL TR 529.80
100085210001062 7S 087171 YIm LA E=k ESEILSe EEMEHAL ZEITX 525.40
100085210003549 5 087121 YImLAE £HH ESEIL IEERRAL FoETL 509.00
100085210002829 g 087171 iR ES=L ESEILSie EEMEHAL ZEITX 508.80
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100085210009072 EX*PH 087171 iR ES=L ESEIlSie EE ML eI 505.40
100085210008859 B*R 087121 YIm L2 £HH E=ERE EE AR ZEIH ! 505.40
100085210001453 FR*iA 140300 it eS=k] cEHE®E EE ML eI 637.00
100085210010061 =S 140300 RitE E=kil SERE EE ML ZEIH Y 628.00
100085210008426 FE 140300 it =[8% eEHE®E EERFAL ZELLY 597.80
100085210001454 i 140300 RitE £HBH ER*E JEE AR ZELL 584.80
100085210001456 RE 140300 RitE e=k] eEFHEE EEMEHAL FETTR 571.40
100085210003711 B 140300 it £HBH 2ER*E JEE AR ZELL 570.20
100085250007558 EF1ZE 125604 Min I ESERE F=BEH EEHR*E ERRIL FToETLH 350.60
100085250002661 5 125604 WRIiESEE F=BH 2ER*E EmHL ZELL 340.40
100085250002691 FF 125604 MinIESERE Ele= =Tl £ERE ERRIL FTETL Y 339.20
100085250002652 B 125604 nIESEE k=R EEIL ERRI TR 339.00
100085250002650 B*55 125604 Min I ESERE Ele= =Tl £ERE ERRIL FTETL Y 332.80
100085250010544 BR*An 125604 R IiESEE F=RH =EFE ERIL ZELL 328.60
100085250008428 BA*a 125604 MIin I ESERE =B ESEIL ERRIL FETL 327.60
100085250002723 AR 125604 R IiESERE k=R EEIL ERIY TR 326.20
100085250002660 R 125604 IimIESERE =B ESEIL ERRIL FETL 326.20
100085250003395 S 125604 WRIESEE E[=skd =EFE ML ZELL 325.60
100085250002676 B%*PH 125604 Iin I ESERE F=HH ESEIL ERRIL FoETL 325.20
100085250004084 > 125604 MR IESEE ISk ESEILSie EMFLY ZEITX 324.60
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100085250002694 X0 125604 MR IEESEE ISk ESEIlSie EMFLY eI 324.40
100085250003928 Doy i3 125604 IinIESERE F=BH E=ERE ERRI ZEIH ! 322.60
100085250002656 w8 125604 R ITiESERE IF=HH EEHRE ERFIL TR 320.20
1000852500084 16 = 125604 YRIiESEE F=BH ER*E EM LY ZEIH Y 319.60
100085250002685 IR 125604 MR IEESEE E| =Sk eEHE®E EMFALY eI 319.60
100085250008374 A3 125604 iR IiESEE k=R E=ERE ERRIL TR 319.20
100085250002707 X5 125604 Min I ESERE F=BEH EEHR*E ERRIL FToETL 319.00
100085250002715 B i 125604 iR IiESERE k=R E=ERE ERRIL TR 318.60
100085250005437 R 125604 Min I ESERE F=BEH EEHR*E ERRIL FToETLH 318.60
100085250002697 P 125604 iR IiESERE IF=BH 2ER*E R ZEIIH! 317.20
100085250002730 XU*gh 125604 MinIESERE Ele= =Tl £ERE ERRIL ZELH 317.00
100085250003892 g e 125604 nIESEE k=R EEIL R TR 316.20
100085250002679 3K 125604 Min I ESERE Ele= =Tl £ERE ERRIL ZELH 314.00
100085250002640 TR 125604 R IiESEE F=RH EEIL R TR 313.60
100085250002746 SK*RE 125604 MIin I ESERE =B ESEIL ERRIL FZELH 312.80
100085250002727 =) 125604 R IiESERE k=R EEIL ERRIL TR 312.20
100085250006357 i 125604 IimIESERE =B ESEIL ERRIL FZELH 312.00
100085250005368 K 125604 R IiESERE k=R EEHRE ERRIL TR 311.10
100085250002689 3K*5E 125604 Iin I ESERE F=HH ESEIL ERRIL ZELH 310.20
100085250002684 F*E 125604 MR IESEE ISk ESEILSie EMFLY ZEITX 309.00
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100085250002662 &I 125604 MinIfESEHE e[Sk ESELSey EMFLY ZELE 306.70
100085250007872 B 125604 YIRIESERE E[==3SF ERE REMAIFL FTETKI 305.80
100085250002675 FE 125604 MRIESEE FELBH SEGSE ML TEE 305.40
100085250002642 3> 125604 YIRIESERE E[==3SF ERE REMAIFL FTETKI 303.60
100085250002681 i 125604 MRIESEE FELBH SESE ML FEE 301.40
100085250002693 =5 125604 RIS EE E[==3SF LEGE AL FETTL 300.60
100085250002744 XU*i& 125604 iR IfESEME E|=s ki ESEaLey EMEFALY FELHE 300.40
100085250002655 BK*1A 125604 MR ISR E[==3SF ERE eIl TR 298.40
100085250002651 [E*E 125604 iR IfESEME E|=s ki ESEaLey EmFLY TR 297.50
100085250005404 % 125604 MR ISR E[==3SF LEGE AL FETTL 296.10
100085250002721 K 125604 iR IfESEE E| =Sk SER*E EmEHL ZELTL 294.00
100085250002671 = 125604 nIEsEE FELBHF cESRE AL FTETIH 291.80
100085250002639 B 125604 iR IfESEME E| =Sk SER*E ML ZELTL 289.70
100085250006621 oy 125604 MR IESEE FELBHF cESRE eIl TETIH 288.80
100085250002708 B 125604 YIRIESERE e[Sk cEGE EMAFL TR 288.80
100085250002728 B 125604 RIS EE FELBH LESE AL FETUTLY 286.20
100085250006082 By 125604 YIRIESERE e[Sk cEGE EMAFL TR 285.80
100085250002669 El 125604 RIS EE FELBH LESE REMIFL TELH 283.40
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